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‘)r each graph below, answer the questions.
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Solutions
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a) Usmg the graph, what is the input when the output is 5.

& T R I i g S e S il el . T, il v

y i (u(R e In wk (S 4
I b) Using the graph, what 1s the output when the nput is 2.
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e) Using your equation what is the output when the mput
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f. Is (-2, 4) a solution? Explain using two methods. o U) =4 /
ND @ % “\\ S ND L} (;n%\\\&
D) =733
RS . |
LL:Q&*“"‘T\;\\BU{'_OJXEia
2. Use the equation f(x) = gx — 10 | %
2. Find f(6). b. Find f(x) = -2 c. Is (14, — %) asotution’
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3. Write the equation of each line.
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a) Through the point (6, 4) with a slope of -3.

: o
quhwl e

[ .
b) through the mimC ,-2) with an undefined slope
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¢) Through the points (4.@) with a slope of zero
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*e) Through the points (4, -2) and (-6, 8)




